
    PRICE LIST

   EFFECTIVE NOVEMBER 18, 2010

 1627 West El Segundo Blvd., Gardena, California  90249
P.O. Box 1646, Gardena, California  90249
     (323) 757-3141  FAX:  (323) 779-8728

            www.glenwoodmarine.com

      ALL PRICES ARE F.O.B. GARDENA, CALIFORNIA

    PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE



GLENWOOD MARINE
PRICE LIST  - EFFECTIVE NOVEMBER 18, 2010

Item Description U/M List Item Description U/MList

1 TRANSOM BRACKET - 1" EA 95.00 70 OIL COOLER   9" CHROME EA 177.50
2 TRANSOM BRACKET - 1-1/8" EA 95.00 71 OIL COOLER BRACKETS PR 63.50
3 TRANSOM BRACKET - 1" EA 160.00 72 OIL COOLER BRACKETS POLISHED PR 79.50
4 TRANSOM BRACKET - 1-1/8" EA 160.00 73 5/16" TURNBUCKLE EA 43.75
5 CRUISER FIN ALUM EA 82.50 74 5/16" TURNBUCKLE EA 44.75
6 CRUISER FIN POL EA 93.50 79 3/8" TURNBUCKLE EA 55.70
7 CRUISER FIN BRASS EA 175.00 80 3/8" TURNBUCKLE EA 56.80
8 SPEED RUDDER BRONZE 1" EA 295.00 81 3/8" TURNBUCKLE EA 57.90
9 SPEED RUDDER BRONZE 1-1/8" EA 295.00 82 3/8" TURNBUCKLE EA 59.00
10 SPEED RUDDER CHROME 1" EA 365.00 83 3/8" TURNBUCKLE EA 60.10
11 SPEED RUDDER CHROME 1-1/8" EA 365.00 84 3/8" TURNBUCKLE EA 61.20
12 COMPETITION STEEL RUDDER - 1" EA 795.00 85 3/8" TURNBUCKLE EA 62.30
13 COMPETITION STEEL RUDDER 1-1/8" EA 790.00 86 3/8" TURNBUCKLE EA 63.40
14 WEDGE RUDDER BRONZE 1-1/8" EA 310.00 87 3/8" TURNBUCKLE EA 64.50
15 WEDGE RUDDER CHROME 1-1/8" EA 380.00 99 18"  CAVITATION PLATES 12 º. PR 450.00
16 CUSTOM CRUISER RUDDER - 1-1/8" EA 390.00 100 18"  CAVITATION PLATES 90 º. PR 450.00
18 CRUISER STRUT EA 225.00 101 HEAVY DUTY STUFFING BOX 1-1/8" EA 105.50
19 UNIVERSAL RUDDER 1" EA 275.00 102 STUFFING BOX BRONZE 1" EA 63.50
20 UNIVERSAL RUDDER 1-1/8" EA 275.00 103 STUFFING BOX BRONZE 1-1/8" EA 63.50
21 CRUISER RUDDER 1-1/8" EA 465.00 104 STUFFING BOX CHROME 1" EA 78.50
22 RUDDER BRACKET ALUM 1" EA 81.50 105 STUFFING BOX CHROME 1-1/8" EA 78.50
23 RUDDER BRACKET ALUM  1-1/8" EA 81.50 106 137 FLAX PACKING EA 2.40
24 RUDDER BRACKET POL ALUM 1" EA 93.50 107 STUFF BOX PLATE 3-1/4" X 3-1/4" BR. EA 25.50
25 RUDDER BRACKET POL ALUM 1-1/8" EA 93.50 108 STUFF BOX PLATE 4" X 4" BR. EA 32.50
28 TILLER 1" - BRONZE EA 43.00 109 STUFF BOX PLATE 3-1/4" X 3-1/4" CR. EA 34.50
29 TILLER 1-1/8"  - BRONZE EA 43.00 110 STUFF BOX PLATE 4" X 4" CR. EA 43.50
30 TILLER 1" - CHROME EA 58.00 112 SEAL TYPE STUFFING BOX 1" EA 77.10
31 TILLER 1-1/8" - CHROME EA 58.00 113 SEAL TYPE STUFFING BOX 1-1/8" EA 77.10
32 RUDDER BRACKET 1" EA 76.50 114 SEAL TYPE STUFFING BOX 1" EA 97.10
33 RUDDER BRACKET 1-1/8" EA 76.50 115 SEAL TYPE STUFFING BOX 1-1/8" EA 97.10
34 RUDDER BRACKET POL.ALUM 1" EA 84.50 120 11 º CRUISER STRUT EA 335.00
35 RUDDER BRACKET POL.1-1/8" EA 84.50 121  9 º CRUISER STRUT EA 320.00
36 RUDDER QUADRANT ALUM 1" EA 54.25 126 WHIP STRUT BRONZE 12 º EA 68.50
37 RUDDER QUADRANT ALUM 1-1/8" EA 54.25 127 WHIP STRUT BRONZE   9 º EA 68.50
38 RUDDER QUADRANT POL 1" EA 68.50 128 WHIP STRUT CHROME 12 º EA 81.50
39 RUDDER QUADRANT POL 1-1/8" EA 68.50 129 WHIP STRUT CHROME   9 º EA 81.50
40 RUDDER QUADRANT BRNZ 1" EA 130.00 135 DBL SEAL STUFF BOX 1" BR EA 84.75
41 RUDDER QUADRANT BRNZ 1-1/8" EA 130.00 136 DBL SEAL STUFF BOX 1-1/8" BR EA 84.75
42 RUDDER QUADRANT CHRM 1" EA 155.00 137 DBL SEAL STUFF BOX 1" CR EA 103.00
43 RUDDER QUADRANT CHRM 1-1/8" EA 155.00 138 DBL SEAL STUFF BOX 1-1/8" CR EA 103.00
48 FORD V-8 BYPASS ADAPTER EA 49.50 139 "O" RING ONLY (1" or 1-1/8") EA 0.75
51 CHRYSLER B/FORD BYPASS ADAPTER EA 25.25 146  6 FT 33-C CABLE EA 62.00
52 CHEVY & GM BYPASS ADAPTER EA 26.95 147  7 FT 33-C CABLE EA 64.00
53 REMOTE OIL FILTER COMPLETE EA 50.50 148  8 FT 33-C CABLE EA 66.00
54 OIL FILTER ONLY EA 9.50 149  9 FT 33-C CABLE EA 68.00
55 ADAPTER ONLY EA 39.50 150 10 FT 33-C CABLE EA 70.00
56 DUAL OIL FILTER COMPLETE EA 81.50 151 11 FT 33-C CABLE EA 72.00
57 DUAL ADAPTER ONLY EA 65.00 152 12 FT 33-C CABLE EA 74.00
58 HI-PRESSURE HOSE 12" EA 32.00 153 13 FT 33-C CABLE EA 76.00
59 HI-PRESSURE HOSE 14" EA 32.50 154 14 FT 33-C CABLE EA 78.00
60 HI-PRESSURE HOSE 16" EA 33.00 155 15 FT 33-C CABLE EA 80.00
61 HI-PRESSURE HOSE 18" EA 33.50 156 16 FT 33-C CABLE EA 82.00
62 HI-PRESSURE HOSE 22" EA 34.50 157 17 FT 33-C CABLE EA 84.00
63 HI-PRESSURE HOSE 24" EA 35.00 158 18 FT 33-C CABLE EA 86.00
64 HI-PRESSURE HOSE 32" EA 37.50 159 33-C CABLE CLAMP EA 6.25
65 GAS FILTER COMPLETE EA 110.50 160  8 FT 43-C CABLE EA 143.00
66 FILTER ONLY EA 15.95 161  9 FT 43-C CABLE EA 145.00
67 OIL COOLER   9" EA 164.00 162 10 FT 43-C CABLE EA 147.00
68 OIL COOLER 12" EA 172.00 163 11 FT 43-C CABLE EA 149.00
69 OIL COOLER 12" CHROME EA 195.00 164 12 FT 43-C CABLE EA 151.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE 1 PLEASE SPECIFY ITEM NUMBER WHEN ORDERING



GLENWOOD MARINE
PRICE LIST  - EFFECTIVE NOVEMBER 18, 2010

Item Description U/M List Item Description U/MList

165 13 FT 43-C CABLE EA 153.00 310 14 FT FLEX CABLE EA 118.50
166 14 FT 43-C CABLE EA 155.00 311 16 FT FLEX CABLE EA 123.50
167 15 FT 43-C CABLE EA 157.00 312  8 FT SHIFT CABLE EA 105.00
168 16 FT 43-C CABLE EA 159.00 313 10 FT SHIFT CABLE EA 110.00
169 17 FT 43-C CABLE EA 161.00 314 12 FT SHIFT CABLE EA 115.00
170 18 FT 43-C CABLE EA 163.00 315 14 FT SHIFT CABLE EA 120.00
171 19 FT 43-C CABLE EA 165.00 316 16 FT SHIFT CABLE EA 125.00
172 SHAFT LOG ALUM 9 º EA 48.50 335 IN/OUT V-DRIVE SHIFTER EA 148.75
176 SHAFT LOG POL 9 º EA 71.50 336 IN/OUT REVERSE V-DRIVE SHIFTER EA 148.75
180 SHAFT LOG BRONZE  9 º EA 88.00 338 3/16" S/S STEERING CABLE FT 1.85
183 SHAFT LOG CHROME 9 º EA 116.50 340 3/16" CABLE CLAMP EA 6.10
187 SHAFT LOG ALUM 15 º EA 29.00 341 5/32" CABLE CLAMP EA 6.10
191 SHAFT LOG POL 15 º EA 37.50 342 CUSTOM RACING FIN BRASS EA 164.00
195 SHAFT LOG BRONZE 15 º EA 64.50 343 CUSTOM RACING FIN W/PICKUP EA 172.00
199 SHAFT LOG CHROME 15 º EA 88.50 344 CUSTOM RACING FIN CHROME EA 220.00
203 1" WATER HOSE FT 3.20 345 CUSTOM RACING FIN W/PICKUP EA 230.00
205 3/4" WATER HOSE FT 2.25 346 TWO HOLE FLANGE BEARING 1" EA 99.50
206 5/8" WATER HOSE FT 1.60 347 TWO HOLE FLANGE BEARING 1-1/8" EA 99.50
207 SHAFT LOG ALUM 12 º EA 33.50 348 ALBACORE BEARING - 3/4" x 1-1/4" EA 71.10
211 SHAFT LOG POL 12 º EA 45.50 349 BLENNY BEARING-7/8" x 1-1/4" EA 95.00
215 SHAFT LOG BRONZE  12 º EA 75.00 350 BARRACUDA BEARING - 7/8" x 1-3/8" EA 75.93
219 SHAFT LOG CHROME 12 º EA 108.50 351 BASS BEARING - 7/8" x 1-1/2" EA 85.48
223 STUFFING BOX 1" EA 39.50 352 BLACKFISH BEARING - 1" x 1-1/4" EA 79.50
226 STUFFING BOX 1-1/8" EA 39.50 353 BLOATER BEARING - 1" x 1-3/8" EA 79.50
227 STUFFING BOX CR 1" EA 52.50 354 BONITO BEARING - 1" x 1-1/2" EA 82.11
230 STUFFING BOX CR 1-1/8" EA 52.50 355 BROADBILL BEARING - 1" x 1-5/8" EA 109.50
231 STAINLESS HOSE CLAMP EA 2.10 356 BULLHEAD BEARING - 1" x 2" EA 98.58
232 SHAFT LOG HOSE EA 9.50 357 CAMA BEARING 1-1/8" x 1-1/2" EA 104.50
233 SEAL ONLY 1" EA 4.75 358 CARP BEARING - 1-1/8" x 1-5/8" EA 101.50
234 STUFFING BOX BRONZE 1" EA 35.25 359 CATFISH BEARING - 1-1/8" x 1-3/4" EA 107.50
235 STUFFING BOX BRONZE 1-1/8" EA 35.25 360 CHOBIE BEARING - 1-1/8" x 2" EA 109.22
236 STUFFING BOX CHROME 1" EA 41.95 361 CHOGSET BEARING - 1-1/4" x 1-1/2" EA 106.90
237 STUFFING BOX CHROME 1-1/8" EA 41.95 362 CHUB BEARING - 1-1/4" x 1-3/4" EA 99.36
238 SEAL ONLY 1-1/8" EA 4.75 363 COD BEARING - 1-1/4" x 2" EA 104.10
239 H/D SHAFT LOG ONLY EA 110.00 364 CROAKER BEARING - 1-1/4" x 2-1/8" EA 114.49
240 H/D SHAFT LOG 1-1/4" EA 160.00 365 DEVILFISH BEARING - 1-3/8" x 1-7/8" EA 121.39
241 H/D SHAFT LOG 1-1/8" EA 160.00 366 DOGFISH BEARING - 1-3/8" x 2" EA 126.44
244 DBL SEAL STUFF BOX W/D BR 1" EA 66.95 367 DOLPHIN BEARING - 1-3/8" x 2-1/8" EA 130.78
246 DBL SEAL STUFF BOX W/D CR 1" EA 79.95 368 EEL BEARING - 1-3/8" x 2-3/8" EA 132.86
258 COMPETITION FOOT THROTTLE EA 159.50 369 FLATFISH BEARING - 1-1/2" x 2" EA 145.74
280 SMALL BEARING CAGE EA 68.50 370 FLOUNDER BEARING - 1-1/2" x 2-3/8" EA 145.06
282 AQUA LUBE BEARING 1" X 1-1/4" EA 14.75 371 GAR BEARING - 1-5/8" x 2-1/8" EA 162.98
283 AQUA LUBE BEARING 1" X 1-3/8" EA 18.95 372 GRAYBACK BEARING - 1-5/8" x 2-5/8" EA 173.81
284 AQUA LUBE BEARING 1-1/8" X 1-3/8" EA 19.25 373 GROUPER BEARING - 1-3/4" x 2-3/8" EA 169.14
285 FLANGE BEARING EA 79.95 374 HADDO BEARING - 1-3/4" x 2-5/8" EA 172.91
286 FLANGE BEARING EA 53.50 375 HAKE BEARING - 1-7/8" x 2-5/8" EA 183.39
287 FLANGE BEARING EA 53.50 376 HALIBUT BEARING- 1-7/8" x 2-15/16" EA 202.35
288 FLANGE BEARING EA 96.50 377 HERRING BEARING - 2" x 2-5/8" EA 192.41
289 ALUMINUM FIN EA 52.50 378 SPECIAL BEARING - 1-1/8" x 1-3/8" EA 172.50
290 ALUMINUM FIN POLISHED EA 69.50 381 STEERING POST 10" EA 92.50
291 BRASS FIN EA 136.00 382 STEERING POST   4" EA 52.50
292 CHROME BRASS FIN EA 190.00 383 STEERING BEARING EA 44.50
293 ALUMINUM V BASE FIN EA 52.50 384 STEERING POST 6-3/4" EA 59.50
294 ALUMINUM V BASE FIN POLISHED EA 69.50 385 STEERING CHAIN EA 16.50
295 BRASS V BASE FIN EA 136.00 386 STEERING TURNBUCKLE EA 29.50
296 BRASS CHROME V BASED FIN EA 190.00 387 STEERING SPROCKET 17 TOOTH EA 21.50
306 CABLE CONTROL FOOT THROTTLE EA 135.00 389 STEERING SHAFT 36" EA 30.00
307   8 FT FLEX CABLE EA 103.50 390 STEERING SHAFT 48" EA 38.00
308 10 FT FLEX CABLE EA 108.50 391 STEERING SHAFT 36" S/S EA 69.75
309 12 FT FLEX CABLE EA 113.50 392 STEERING SHAFT 48" S/S EA 87.50

PRICES SUBJECT TO CHANGE WITHOUT NOTICE 2 PLEASE SPECIFY ITEM NUMBER WHEN ORDERING



GLENWOOD MARINE
PRICE LIST  - EFFECTIVE NOVEMBER 18, 2010

Item Description U/M List Item Description U/MList

393 DOUBLE SWIVEL TYPE PULLEY EA 61.50 476 5/16” PIN & CLIP EA 1.40
396 SINGLE PULLEY EA 32.50 477 3/8" PIN & CLIP EA 1.70
398 DOUBLE PULLEY EA 50.50 478 3/8" PIN & RING EA 1.88
400 S/S SAFETY COLLAR 1" EA 11.25 479 5/16" PIN & RING EA 4.25
401 S/S SAFETY COLLAR 1-1/8" EA 11.75 480 STAINLESS SCREW EA 0.25
402 S/S SAFETY COLLAR  3/4" EA 10.75 481 STUD-NUT-WASHER EA 0.25
403 S/S SAFETY COLLAR  7/8" EA 10.75 485 5/16" "E" CLIP ONLY EA 0.32
404 STAINLESS STEEL THRU HULL EA 21.00 486 3/8"  "E" CLIP ONLY EA 0.42
405 STAINLESS STEEL GAS VENT EA 16.00 487 STAINLESS RING ONLY EA 0.12
406 MINI WATER PICKUP BRONZE EA 19.95 488 2-1/2" ALUM EXHAUST PORT EA 47.50
407 GAS TANK VENT CHROME EA 28.75 489 3" ALUM EXHAUST PORT EA 57.50
408 MINI WATER PICKUP CHROME EA 28.75 490 2-1/2" CHROME EXHAUST PORT EA 155.00
409 NO. 8 STAINLESS THRU HULL EA 20.00 491 3" CHROME EXHAUST PORT EA 162.00
410 FOUR THROAT CARB TILT SHIM EA 51.00 492 TRANSOM MOUNT SKI TOW EA 87.50
411 TWO THROAT CARB TILT SHIM EA 41.50 493 OLDS STEEL SKI TOW FRONT EA 70.95
412 QUADRAJET TILT SHIM EA 142.00 495 OLDS S/S SKI TOW TALL REAR EA 195.00
414 CUSTOM RACING WHEEL -  12" EA 78.50 496 CHEVY 350 S/S SKI TOW FRONT EA 195.00
415 CUSTOM RACING WHEEL - 13" EA 78.50 497 CHEVY 350 S/S SKI TOW REAR EA 195.00
417 CAP ASSEMBLY EA 17.25 498 CHEVY 454 S/S SKI TOW FRONT EA 195.00
418 RIDEGUIDE ADAPTER EA 31.00 500 CHEVY 454 S/S SKI TOW F/R EA 195.00
419 TELEFLEX ADAPTER EA 36.95 501 CHEVY 454 S/S SKI TOW TALL-F EA 195.00
420 STEERMASTER ADAPTER EA 27.00 502 CHEVY 454 S/S SKI TOW TALL-R EA 195.00
421 3/4" TAPER ADAPTER EA 24.50 506 FORD 460 S/S SKI TOW REAR EA 195.00
422 ATTWOOD ADAPTER EA 36.95 507 FORD 460 S/S SKI TOW F/R EA 195.00
423 MORSE ADAPTER EA 36.95 510 DRAIN TUBE ONLY EA 3.50
424 48" x 1" 17-4 S.S. PROP SHAFT EA 237.00 511 BRASS DRAIN PLUG ONLY EA 4.25
425 54" X 1" 17-4 S.S. PROP SHAFT EA 262.00 512 BRASS DRAIN PLUG WITH TUBE EA 7.75
426 60" X 1" 17-4 S.S. PROP SHAFT EA 287.00 513 CHROME DRAIN PLUG ONLY EA 8.50
427 66" X 1" 17-4 S.S. PROP SHAFT EA 312.00 514 CHROME DRAIN PLUG WITH TUBE EA 12.00
428 72" X 1" 17-4 S.S. PROP SHAFT EA 337.00 520 2-7/8" EXHAUST HOSE FT 23.50
429 78" X 1" 17-4 S.S. PROP SHAFT EA 362.00 521 3-1/2" EXHAUST HOSE FT 25.50
430 84" X 1" 17-4 S.S. PROP SHAFT EA 388.00 522 4" EXHAUST HOSE FT 27.95
431 90" X 1" 17-4 S.S. PROP SHAFT EA 413.00 524 JDA DRAIN - BLACK EA 18.75
454 CRUISER FIN BRASS EA 86.75 LEFT BLANK INTENTIONALLY
455 TILT SHIM 4 BARREL EA 59.95 526 JDA DRAIN REPAIR KIT EA 10.90
458 2-5/8" FLAME ARRESTER EA 33.75 534 S/S BRAIDED HOSE 12" W/ S/S FITT. EA 254.00
459 4-3/16" FLAME ARRESTER EA 48.50 535 ADDITIONAL HOSE PER FOOT FT 10.95
459-A 4-3/16" TALL FLAME ARRESTER EA 52.95 536 STAINLESS STEEL FITTING EA 115.00
459-B 4-3/16" FLAME ARRESTER W/BRTHR EA 52.00 537 STAINLESS PICKUP KIT EA 52.50
460-C 5-1/8" LOW PROFILE ARRESTER EA 33.00 538 STAINLESS PICKUP ONLY EA 29.50
460-D 5-1/8" TALL FLAME ARRESTER EA 45.50 539 STAINLESS THRU HULL ONLY EA 25.50
460-E 5-1/8" LOW PROFILE W/BREATHER EA 49.50 540 #12 STAINLESS THRU HULL ONLY EA 39.75
460-F 5-1/8" FLAME ARRESTER EA 38.50 541 16" X 36" PLATE STOCK EA 85.00
460-G 5-1/8" FLAME ARRESTER W/BRTHR EA 44.50 542 #12 STAINLESS PICKUP ONLY EA 29.50
460-H 5-1/8" FLAME ARRESTER W/BRTHR EA 107.50 543 CAVITATION FOOT CONTROL EA 240.00
461 CAD SAFETY COLLAR 1" EA 21.00 544 OVER-RIDE ASSEMBLY EA 80.00
462 CAD SAFETY COLLAR 1-1/8" EA 21.00 545 DRAG ROD CUT /THREADED EA 76.50
463 CHROME SAFETY COLLAR 1" EA 24.75 556 1/2" SEAL ONLY EA 3.50
464 CHROME SAFETY COLLAR 1-1/8" EA 24.75 557 3/8" ADJUSTABLE PLATE KIT EA 575.00
465 WATER DIVIDER TEE BRASS EA 22.50 559 THRU HULL ASSEMBLY - STRAIGHT EA 80.50
466 WATER DIVIDER TEE CHROME EA 32.00 560 OVAL THRU HULL 90 º EA 118.50
467 18" CAVITATION PLATE - S.S. 12 º PR 610.00 561 OVAL THRU HULL 12 º EA 118.50
468 18" CAVITATION PLATE - S.S. 90 º PR 610.00 562 CONTROL HANDLE EA 172.50
469 5/16" PLATE BOSS EA 17.15 563 3/4" CONTROL LEVER EA 47.50
470 20" CAVITATION PLATE - S.S. 12 º PR 730.00 564 7/8" CONTROL LEVER EA 57.00
471 20" CAVITATION PLATE - S.S. 90 º PR 730.00 565 3/8" CONTROL ARM EA 16.50
472 3/8" PLATE BOSS EA 17.25 LEFT BLANK INTENTIONALLY
473 30" CAVITATION PLATE - S.S. 12 º PR 1070.00 568 7/8" TRANSOM PILLOW BLOCK EA 21.00
474 30" CAVITATION PLATE - S.S. 90 º PR 1070.00 569 STAINLESS CLEVIS 1/2" EA 17.00
475 3/8" PLATE BOSS - S.S. EA 18.25 577 DELUXE PLATE KIT EA 777.50

PRICES SUBJECT TO CHANGE WITHOUT NOTICE 3 PLEASE SPECIFY ITEM NUMBER WHEN ORDERING



GLENWOOD MARINE
PRICE LIST  - EFFECTIVE NOVEMBER 18, 2010

Item Description U/M List Item Description U/MList

578 DELUXE KIT WITH STAGGERED ARM EA 781.50 678 2" FLIP TOP ONLY CHROME EA 300.00
579 3/4" CHRM TRANSOM PILLOW BLK EA 42.50 679 2-1/2" FLIP TOP ONLY CHROME EA 367.00
580 7/8" CHRM TRANSOM PILLOW BLK EA 42.50 682 CHEVY WATER DIVIDER EA 30.50
581 1-3/4" STAINLESS CONTROL ARM EA 12.00 683 FORD WATER DIVIDER EA 27.75
582 1-7/8" STAINLESS CONTROL ARM EA 12.75 684 OLDS WATER DIVIDER EA 27.75
583 7/8" STAINLESS CONTROL ARM EA 10.25 685 PONTIAC WATER DIVIDER EA 27.75
584 1" STAINLESS CONTROL ARM EA 10.50 686 FORD COVER PLATE EA 10.50
585 2" STAINLESS CONTROL ARM EA 12.50 688 SBC WATER COVER PLATES PR 30.25
586 1-3/8" STAINLESS CONTROL ARM EA 11.25 689 FORD WATER COVER PLATES PR 25.75
587 1-1/4" STAINLESS CONTROL ARM EA 11.00 690 PONTIAC WATER COVER PLATE EA 14.25
588 1-1/2" STAINLESS CONTROL ARM EA 11.50 691 OLDS WATER PUMP COVER EA 58.50
589 1-5/8" STAINLESS CONTROL ARM EA 11.75 692 BBC WATER COVER PLATES PR 32.50
590 2-1/8" STAINLESS CONTROL ARM EA 12.75 693 FORD WATER PUMP COVER EA 59.95
591 1-1/8" STAINLESS CONTROL ARM EA 10.75 697 SMALL BLOCK CHEVY MANIFOLDS PR 775.00
592 2-1/4" STAINLESS CONTROL ARM EA 13.00 698 3/8" U TYPE BOW EYE EA 7.70
593 7/8" CONTROL SHAFT - STAINLESS STEELEA 184.50 699 7/8" U TYPE BOW EYE EA 10.25
595 1/2" NEOPRENE HOSE FT 3.60 700 CUSTOM LIFTING EYE EA 51.50
596 1/4" NEOPRENE HOSE FT 7.00 701 BOW EYE CHROME EA 38.45
597 3/4" NEOPRENE HOSE FT 8.75 702 EXHAUST GASKET SQ. MANIFOLDS EA 3.00
598 3/8" NEOPRENE HOSE FT 3.99 703 ELBOW ADAPTER FOR 311-316 PR 43.50
599 5/8" NEOPRENE HOSE FT 6.50 704 ELBOW ADAPTER FOR 279-281-317 PR 47.50
600 SMALL HATCH VENT EA 49.50 705 ELBOW ADAPTER FOR 293-294-318 PR 61.50
601 HOBBS HOUR METER EA 115.50 706 3 HOLE GASKET EA 3.00
602 BLOCK TEMP GAUGE EA 54.75 707 35 º WATER ELBOWS PR 179.00
614 STANDARD STREAMLINE VENT EA 53.50 708 80 º WATER ELBOWS PR 210.00
615 1/2" SAE FITTING EA 6.50 709 35 º LARGE ELBOWS PR 235.00
616 1/4" SAE FITTING EA 2.50 710 RISERS PR 690.00
617 3/4" SAE FITTING EA 18.00 711 OVER TRANSOM PIPES 31" PR 575.00
618 3/8" SAE FITTING EA 5.25 712 OVER TRANSOM PIPES 29" & 31" PR 575.00
619 5/8" SAE FITTING EA 9.25 713 OVER TRANSOM PIPES 29" PR 575.00
620 DELUXE HATCH VENT EA 64.25 714 RISERS PR 685.00
622 JONES TACHOMETER WITH T/T EA 590.00 715 SMALL RISERS W/LARGE FLANGE PR 550.00
623   6' JONES TACH CABLE EA 118.00 716 SMALL RISERS FOR SQ. MANIFOLDS PR 535.00
624   7' JONES TACH CABLE EA 126.50 717 DOWN ANGLE RISERS PR 441.00
625   8' JONES TACH CABLE EA 135.00 718 4 HOLE GASKET EA 4.25
626   9' JONES TACH CABLE EA 144.50 720 PONTIAC MANIFOLDS '59-'79 PR 640.00
627 10' JONES TACH CABLE EA 152.00 722 S/S COTTER PIN EA 0.25
628 11' JONES TACH CABLE EA 159.50 723 PROP NUT KIT EA 5.40
629 12' JONES TACH CABLE EA 167.00 724 S/S PROP KEY EA 1.50
631 DECK TACH MOUNT EA 62.00 725 BRASS PROP NUT EA 1.75
632 DECK GAUGE MOUNT EA 41.00 726 S/S HALF NUT EA 1.75
649 2" FLUSH DECK PLATE MOUNT EA 47.50 727 S/S LOCK PROP NUT EA 4.15
650 1-1/4" FLUSH DECK PLATE MOUNT EA 45.95 728 1" SCOOP STRAINER EA 48.95
651 1-1/2" FLUSH DECK PLATE MOUNT EA 46.85 729 1/2" SCOOP STRAINER EA 42.95
652 FLIP TOP GAS FILL CHROME EA 355.00 730 3/4" SCOOP STRAINER EA 45.45
653 FLIP TOP GAS FILL CHROME EA 425.00 731 BRASS HI-SPEED WATER PICKUP EA 29.75
664 01258 PIPE TO HOSE FITTING EA 8.50 732 CHRM HI-SPEED WATER PICKUP EA 37.85
665 01438 PIPE TO HOSE FITTING EA 6.50 733 102" x 1" STAINLESS PROP SHAFT EA 337.00
666 01838 PIPE TO HOSE FITTING EA 3.95 734  48" x 1" STAINLESS PROP SHAFT EA 175.00
667 03434 PIPE TO HOSE FITTING EA 11.95 735  54" x 1" STAINLESS PROP SHAFT EA 192.00
668 03812 PIPE TO HOSE FITTING EA 5.50 736  60" x 1" STAINLESS PROP SHAFT EA 211.00
669 03838 PIPE TO HOSE FITTING EA 6.75 737  66" x 1" STAINLESS PROP SHAFT EA 229.00
670 03858 PIPE TO HOSE FITTING EA 6.75 738  72" x 1" STAINLESS PROP SHAFT EA 247.00
671 91258 PIPE TO HOSE FITTING EA 11.95 739  78" x 1" STAINLESS PROP SHAFT EA 265.00
672 91438 PIPE TO HOSE FITTING EA 8.25 740  84" x 1" STAINLESS PROP SHAFT EA 283.00
673 93434 PIPE TO HOSE FITTING EA 19.75 741  90" x 1" STAINLESS PROP SHAFT EA 301.00
674 93812 PIPE TO HOSE FITTING EA 9.25 742  96" x 1" STAINLESS PROP SHAFT EA 319.00
675 93858 PIPE TO HOSE FITTING EA 9.95 743 2" EXHAUST PORT POLISHED EA 50.00
676 GARBOARD DRAIN PLUG - 1/2" EA 28.50 744 3" EXHAUST PORT POLISHED EA 55.00
677 FLIP TOP GAS FILL ALUMINUM EA 37.50 745 2-1/2" EXHAUST PORT POLISHED EA 52.50

PRICES SUBJECT TO CHANGE WITHOUT NOTICE 4 PLEASE SPECIFY ITEM NUMBER WHEN ORDERING



GLENWOOD MARINE
PRICE LIST  - EFFECTIVE NOVEMBER 18, 2010

Item Description U/M List Item Description U/MList

746 2" EXHAUST PORT CHROME EA 81.50 796-Q CHEV(87 & NEWER) STD 1350 F/W PTO EA 73.50
747 3" EXHAUST PORT CHROME EA 102.50 796-T CHEVY LT-1 PG 1350 F/W PTO EA 78.50
748 2-1/2" EXHAUST PORT CHROME EA 97.50 797 1350 FOR 71 B/W SPICER ADAPTER EA 60.50
749 3" EXHAUST PORT POLISHED EA 80.00 798 1350 FOR 72 BW/SPICER ADAPTER EA 60.50
750 2-1/2" EXHAUST PORT POLISHED EA 78.75 799 BOLTS F/W ADAPTERS (1310/1350) EA 9.00
751 3" EXHAUST PORT CHROME EA 164.50 801 7/16" X 1-1/4" 12 PT CAP SCREW EA 1.40
752 2-1/2" EXHAUST PORT CHROME EA 158.50 806 DRIVE CLUTCH EA 31.50
753 308 REPLACEMENT FLAP EA 3.75 807 DRIVE PIGTAIL EA 7.25
754 308 PLATE & SCREWS EA 1.00 809 CASALE TACH DRIVE ASSEMBLY EA 485.00
755 FORD MANIFOLDS PR 675.00 810 MINI HOSE CLAMP EA 1.35
756 K-500 MONEL PROP SHAFT 1" IN 13.25 811 # 6 HOSE CLAMP EA 1.90
757 K-MONEL MACHINE CHARGE-1" EA 35.00 812 # 8 HOSE CLAMP EA 1.99
758 CHEVY MANIFOLDS PR 675.00 813 #10 HOSE CLAMP EA 1.99
760 DOUBLE TAPER MACHINE CHG EA 45.00 814 #12 HOSE CLAMP EA 1.99
767 CHAIN COUPLINGS EA 169.00 815 #16 HOSE CLAMP EA 1.99
768 CHAIN ONLY EA 23.00 816 #20 HOSE CLAMP EA 1.99
770 ENGINE END COUPLING EA 92.00 817 #24 HOSE CLAMP EA 1.99
771 SHAFT END COUPLING EA 65.00 818 #28 HOSE CLAMP EA 2.10
772 CHAIN MASTER LINK ONLY EA 3.00 819 #32 HOSE CLAMP EA 2.10
773 DRC-4016 CHAIN EA 28.95 820 #36 HOSE CLAMP EA 2.10
779 DRIVE DAMPER EA 199.50 821 #40 HOSE CLAMP EA 2.20
781 CHEVY BELL HOUSING EA 345.00 823 #44 HOSE CLAMP EA 2.55
782 FORD 460 BELL HOUSING EA 240.00 824 #48 HOSE CLAMP EA 2.55
784 CHEVY BELL HOUSING POLISHED EA 375.00 825 #52 HOSE CLAMP EA 3.15
788 COOLER HOSES - BORG WARNER PR 52.50 826 #56 HOSE CLAMP EA 3.15
793 1/2" SPACER FOR  BBC EA 44.50 827 #60 HOSE CLAMP EA 3.20
793-E CHEVY PG 1310 F/W PTO EA 73.50 828 #64 HOSE CLAMP EA 3.20
793-F CHEVY STD 1310 F/W PTO EA 73.50 829 STANDARD PROP PULLER EA 63.50
793-G CHRYSLER 6 BOLT 1310 F/W PTO EA 80.50 830 TORQUE TUBE GUARD 6-1/2" EA 135.00
793-H CHRYSLER 8 BOLT 1310 F/W PTO EA 80.50 831 TORQUE TUBE GUARD 8-1/2" EA 137.50
793-I FORD - 272-312  1310 F/W PTO EA 60.00 832 TORQUE TUBE GUARD 6-1/2"-POL EA 160.00
793-J FORD - 289-351  1310 F/W PTO EA 73.50 833 TORQUE TUBE GUARD 8-1/2"-POL EA 165.00
793-K FORD - 331-460  1310 F/W PTO EA 82.00 834 1310 SHORT DRIVE LINE EA 440.00
793-L OLDS - 65 1310 F/W PTO EA 73.50 835 1350 SHORT DRIVE LINE EA 481.00
793-M OLDS - 66-81  1310 F/W PTO EA 73.50 836 13" 1350 SPECIAL DRIVE LINE EA 454.00
793-N PONTIAC - 59-64  1310 F/W PTO EA 73.50 837 24" 1310 DRIVE LINE EA 420.00
793-O PONTIAC - 65-81  1310 F/W PTO EA 73.50 838 24" 1350 DRIVE LINE EA 490.00
793-P CHEVY (87 & NEWER) PG 1310 F/W PTO EA 70.50 839 36" 1310 DRIVE LINE EA 440.00
793-Q CHEVY (87 & NEWER) STD 1310 F/W PTO EA 70.50 840 36" 1350 DRIVE LINE EA 510.00
793-R CHEVY (81-86 V-6) 1310 PG F/W PTO EA 70.50 841 48" 1310 DRIVE LINE EA 510.00
793-S CHEVY(81-86 V-6)STD 1310 F/W PTO EA 70.50 843 1350 JET H-JOINT ASSEMBLY EA 510.00
794 1310 FOR 71 B/W SPICER ADAPTER EA 57.00 844 1310 JET H-JOINT ASSEMBLY EA 215.00
795 1310 FOR 72 B/W SPICER ADAPTER EA 60.50 845 48" 1350 DRIVE LINE EA 530.00
796 1/2" SPACER - SBC-87 & UP EA 44.50 846 1310 H-JOINT ASSEMBLY EA 200.00
796-A BUICK 55-56 1350 F/W PTO EA 73.50 848 TURBO 400 DRIVE LINE EA 500.00
796-B BUICK PG  - 56-65 1350 F/W PTO EA 73.50 849 CUT/WELD TORQUE TUBE EA 100.00
796-C BUICK PG - 66-88  1350 F/W PTO EA 73.50 850 ENGINE ADAPTER EA 69.95
796-D CAD/OLDS - 49-64 1350 F/W PTO EA 73.50 851 V-DRIVE ADAPTER EA 35.00
796-E CHEVY PG 1350 F/W PTO EA 73.50 852 S/S TUBE ADAPTER SLEEVE EA 138.00
796-F CHEVY STD 1350 F/W PTO EA 73.50 853 12" S/S TUBE GUARD EA 167.00
796-G CHRYSLER 6 BOLT 1350 F/W PTO EA 80.50 854 18" S/S TUBE GUARD EA 236.00
796-H CHRYSLER 8 BOLT 1350 F/W PTO EA 80.50 855 24" S/S TUBE GUARD EA 310.00
796-I FORD 2.3 LITER 1350 F/W PTO EA 82.00 856 30" S/S TUBE GUARD EA 388.00
796-J FORD - 289-351  1350 F/W PTO EA 78.50 857 36" S/S TUBE GUARD EA 465.00
796-K FORD - 331-460  1350 F/W PTO EA 85.00 858 42" S/S TUBE GUARD EA 540.00
796-L OLDS - 65  (425 C.I.) 1350 F/W PTO EA 73.50 859 48" S/S TUBE GUARD EA 618.00
796-M OLDS - 66-81  1350 F/W PTO EA 73.50 860 CRANKSHAFT TAKEOFF 1310 EA 125.00
796-N PONTIAC - 59-64  1350 F/W PTO EA 73.50 861 CRANKSHAFT TAKEOFF 1350 EA 137.00
796-O PONTIAC - 65-81  1350 F/W PTO EA 73.50 862 1310 CRANK ADAPTER V-PULLEY EA 140.00
796-P CHEVY(87 & NEWER) PG 1350 F/W PTO EA 73.50 863 1350 CRANK ADAPTER V-PULLEY EA 155.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE 5 PLEASE SPECIFY ITEM NUMBER WHEN ORDERING



GLENWOOD MARINE
PRICE LIST  - EFFECTIVE NOVEMBER 18, 2010

Item Description U/M List Item Description U/MList

864-A 1" MALE 71 B/W - 4" FLANGE EA 89.50 960 FORD MANIFOLDS PR 775.00
864-B 1" MALE SPICER 4" FLANGE EA 89.50 961 CHRYSLER MANIFOLDS PR 775.00
864-C 1"  TAPER  MALE 71 B/W - 4" FLANGE EA 109.00 962 OLDS MANIFOLDS PR 775.00
864-D 1-1/8" MALE 71 - 4" B/W FLANGE EA 89.50 963 MANIFOLD STUD KIT EA 11.50
864-E 1-1/8" MALE SPICER 4" FLANGE EA 89.50 LEFT BLANK INTENTIONALLY
864-G S/S 1/2" LOCK NUT EA 6.25 965 THROTTLE BRACKET EA 22.95
865-A 1" MALE 72 B/W - 5" FLANGE EA 90.00 966  6' S/W TACH CABLE EA 110.50
865-B 1-1/8" MALE 72 B/W - 5" FLANGE EA 90.00 967  7' S/W TACH CABLE EA 119.00
868 SPLIT SLEEVE COUPLER CAD EA 58.50 968  8' S/W TACH CABLE EA 127.50
869 SPLIT SLEEVE COUPLER CHROME EA 68.50 969  9' S/W TACH CABLE EA 136.00
870 UNIVERSAL PROP PULLER EA 79.50 970 10' S/W TACH CABLE EA 144.50
871 IGNITION SWITCH OFF/ON EA 64.50 971 11' S/W TACH CABLE EA 153.00
872 IGNITION SWITCH OFF/IGN/START EA 66.00 972 12' S/W TACH CABLE EA 161.50
873 PUSH BUTTON SWITCH EA 33.75 973 1/8" NPT S/W SENDER EA 91.50
874 PUSH-PULL SWITCH EA 33.50 974 S/W TEMP SENDER EA 40.95
875 S/B CHEVY TIMING CHAIN COVER EA 118.50 975 1/2" S/W TEMP SENDER EA 36.50
882 11-1/2 X 13 - 2 BLADE PROP EA 730.00 976 3/8" S/W TEMP SENDER EA 36.50
883 11-1/2 X 14 - 2 BLADE PROP EA 730.00 977 1/4" S/W TEMP SENDER EA 54.75
884 11-1/2 X 15 - 2 BLADE PROP EA 730.00 978 1/8" S/W TEMP SENDER EA 29.90
885 11-1/2 X 16 - 2 BLADE PROP EA 730.00 981 LEFT/RIGHT TANK SENDER EA 68.50
886 12 X 13 - 2 BLADE PROP EA 730.00 982 LEFT/RIGHT TANK SENDER EA 48.50
887 12 X 14 - 2 BLADE PROP EA 730.00 983 LEFT/RIGHT TANK SENDER EA 54.50
888 12 X 15 - 2 BLADE PROP EA 730.00 985 S/W ELECTRIC TACH EA 236.95
889 12 X 16 - 2 BLADE PROP EA 730.00 986 S/W AMP GAUGE EA 99.50
891 FORD FRONT MOUNT EA 352.50 987 S/W FUEL GAUGE(12V) EA 115.75
892 CHRYSLER FRONT MOUNT 1 BOLT EA 352.50 988 S/W VOLTMETER EA 119.75
893 PONTIAC FRONT MOUNT EA 352.50 989 S/W OIL PRESSURE GAUGE(12V) EA 115.75
894 454 CHEVY FRONT MOUNT EA 352.50 990 S/W WATER TEMP GAUGE(12V) EA 115.75
895 CHEVY FRONT MOUNT EA 250.00 991 S/W OIL TEMP GAUGE(12V) EA 115.75
896 OLDS FRONT MOUNT EA 250.00 992 S/W VACUUM GAUGE EA 98.00
897 CHEVY FRONT MOUNT EA 214.50 993 S/W FUEL PRESSURE GAUGE EA 106.10
898 OLDS FRONT MOUNT EA 187.50 994 S/W OIL PRESSURE GAUGE EA 99.50
900 FORD FRONT MOUNT EA 230.00 995 S/W OIL PRESSURE GAUGE EA 99.50
901 CHRYSLER B MOUNT 3 BOLT EA 307.00 996 S/W ELECTRIC TACH EA 112.50
902 ALUMINUM ANGLE FOR MOUNTS PR 10.95 997 S/W OIL TEMP SENDER EA 36.50
903 RUBBER MOUNTS ONLY EA 6.25 998 S/W OIL TEMP SENDER EA 36.50
905 FEET FOR 06/07 MOUNTS PR 93.50 999 S/W OIL TEMP SENDER EA 36.50
906 FEET FOR 10/11 MOUNTS PR 49.00 1000 1" MAGNAFLOW WATER PUMP EA 471.00
908 FORD REAR MOUNT EA 302.00 1001 1" MAGNAFLOW IMPELLER KIT EA 57.00
909 CHRYSLER REAR MOUNT EA 275.00 1002 MAGNAFLOW MASTER KIT EA 90.00
911 CHEVY REAR MOUNT EA 260.00 1009 3/4" MAGNAFLOW WATER PUMP EA 444.00
912 CHEVY REAR MOUNT EA 347.50 1010 3/4" MAGNAFLOW IMPELLER KIT EA 49.50
913 OLDS/PONTIAC REAR MOUNT EA 344.50 1017 NEOVANE SERVICE KIT EA 46.50
914 CHEVY REAR MOUNT EA 299.50 1018 NEOVANE SERVICE KIT EA 36.75
915 OLDS REAR MOUNT EA 260.00 LEFT BLANK INTENTIONALLY
917 FORD REAR MOUNT EA 299.00 1024 1" JABSCO PUMP EA 403.75
922 10 DEGREE CASALE GEARS EA 520.00 1025 HIGH SPEED JABSCO PUMP EA 403.75
923 STANDARD V-DRIVE EA 2778.00 1026 1/2" JABSCO PUMP EA 367.50
924 12 DEGREE CASALE GEARS EA 520.00 1033 JABSCO PUMP EA 402.50
926 IN-AND-OUT V-DRIVE EA 3139.00 1034 JABSCO PUMP EA 430.50
928 V-DRIVE GASKET SET EA 65.00 1035 1" JABSCO PUMP EA 541.50
929 C-500 V-DRIVE EA 4180.00 1036 3/4" JABSCO PUMP EA 610.00
934 BEARING PULLER EA 95.00 1038 JABSCO "WATER PUPPY" (12V) EA 246.50
935 MK IV CHEVY TIMING CHAIN CVR EA 142.00 1041 JABSCO AUTO FLOAT SWITCH EA 48.50
936 MK V CHEVY TIMING CHAIN CVR EA 142.00 1042 JABSCO IMPELLER (NE) EA 43.50
937 MK VI CHEVY TIMING CHAIN CVR EA 142.00 1043 JABSCO IMPELLER EA 45.85
938 BBC TIMING CHAIN COVER GASKET EA 8.00 1044 JABSCO BILGE PUMP EA 35.75
956 BIG BLOCK CHEVY MANIFOLDS PR 775.00 1047 JABSCO SERVICE KIT EA 48.75
957 ALTERNATOR BRACKET EA 13.75 1048 JABSCO SERVICE KIT EA 71.50
959 FORD MANIFOLDS PR 775.00 1049 JABSCO SERVICE KIT EA 90.50

PRICES SUBJECT TO CHANGE WITHOUT NOTICE 6 PLEASE SPECIFY ITEM NUMBER WHEN ORDERING



GLENWOOD MARINE
PRICE LIST  - EFFECTIVE NOVEMBER 18, 2010

Item Description U/M List Item Description U/MList

1050 JABSCO SERVICE KIT EA 52.50 1110 FLAT WASHER STAINLESS EA 0.12
1051 JABSCO SERVICE KIT EA 63.50 1111 ALUM. STRINGER WASHER EA 1.38
1052 JABSCO SERVICE KIT EA 37.25 1112 ALUM. STRINGER WASHER EA 1.38
1053 JABSCO SERVICE KIT EA 164.25 1113 ALUM. STRINGER WASHER EA 1.38
1054 JABSCO SERVICE KIT EA 108.75 1114 AN WASHER ALUMINUM EA 0.08
1055 JABSCO SERVICE KIT EA 94.25 1115 AN WASHER ALUMINUM EA 0.10
1056 JABSCO IMPELLER EA 32.75 1116 AN WASHER ALUMINUM EA 0.12
1057 JABSCO IMPELLER EA 33.75 1117 AN WASHER ALUMINUM EA 0.14
1058 JABSCO IMPELLER EA 41.75 1121 12 X 1.75 MM CHEVY E-Z OIL DRAIN EA 29.50
1059 JABSCO IMPELLER EA 33.95 1122 14 X 1.50 MM FORD E-Z OIL DRAIN EA 29.50
1060 JABSCO IMPELLER EA 51.75 1124 MUFFLERS FOR STEEL O.T. PR 164.50
1061 JABSCO IMPELLER EA 56.60 1125 1/2 X 20 THREAD E-Z OIL DRAIN EA 29.50
1062 JABSCO IMPELLER EA 25.75 1126 10/32 BALL JOINT EA 4.50
1063 FLAT HEAD M/S STAINLESS EA 0.40 1127 1/4-28 BALL JOINT EA 6.50
1064 FLAT HEAD M/S STAINLESS EA 0.50 1128 3/8-24 BALL JOINT EA 15.75
1065 FLAT HEAD M/S STAINLESS EA 0.60 1129 1/2-20 BALL JOINT EA 9.95
1066 FLAT HEAD M/S STAINLESS EA 0.70 1130 10/32 QD BALL JOINT EA 8.50
1067 FLAT HEAD M/S STAINLESS EA 0.80 1131 1/4-28 X 10/32 BALL JOINT EA 8.50
1068 FLAT HEAD M/S STAINLESS EA 0.90 1132 INBOARD MOTOR INSTALLATION EA 34.50
1069 FLAT HEAD M/S STAINLESS EA 0.49 1133 BUILDING WITH PLYWOOD EA 34.50
1070 FLAT HEAD M/S STAINLESS EA 0.87 1134 TRAILER BUILDING EA 26.50
1071 FLAT HEAD M/S STAINLESS EA 0.93 1135 HOW TO BUILD FIBERGLASS BOATS EA 27.95
1072 FLAT HEAD M/S STAINLESS EA 0.80 1136 GLEN L CATALOG EA 8.25
1073 FLAT HEAD M/S STAINLESS EA 1.00 1137 GLENWOOD CATALOG EA 6.00
1074 FLAT HEAD M/S STAINLESS EA 1.20 1160 S/S SPEED RUDDER 1" EA 610.00
1075 FLAT HEAD M/S STAINLESS EA 1.26 1161 S/S SPEED RUDDER 1-1/8" EA 625.00
1076 FLAT HEAD M/S STAINLESS EA 1.46 1180 S/S WEDGE RUDDER 1" EA 720.00
1077 FLAT HEAD M/S STAINLESS EA 1.66 1181 S/S WEDGE RUDDER 1-1/8" EA 725.00
1078 FLAT HEAD M/S STAINLESS EA 1.76 1211 MORSE ST.CONTROL EA 126.50
1079 FLAT HEAD M/S STAINLESS EA 1.86 1212 MORSE ST/HD CONTROL EA 130.50
1080 FLAT HEAD M/S STAINLESS EA 1.95 1214 MORSE MV-2 CONTROL EA 420.00
1081 HEX HEAD C/S STAINLESS EA 0.32 1215 G/W MORSE STYLE BOX 1" EA 50.50
1082 HEX HEAD C/S STAINLESS EA 0.33 1216 G/W MORSE STYLE BOX 1-1/8" EA 51.50
1083 HEX HEAD C/S STAINLESS EA 0.45 1218 MORSE MT-3 SINGLE CONTROL EA 350.00
1084 HEX HEAD C/S STAINLESS EA 0.50 1219 MORSE MT-2 TWIN CONTROL EA 715.00
1085 HEX HEAD C/S STAINLESS EA 0.60 1220 MORSE MV-2 R.H. CONTROL EA 337.00
1086 HEX HEAD C/S STAINLESS EA 0.69 1221 MORSE MV-2 L.H. CONTROL EA 337.00
1087 HEX HEAD C/S STAINLESS EA 0.38 1238 TWIN DRIVE HELM EA 113.50
1088 HEX HEAD C/S STAINLESS EA 0.51 1239 10 FT 43-BC CABLE EA 165.00
1089 HEX HEAD C/S STAINLESS EA 0.65 1240 11 FT 43-BC CABLE EA 167.00
1090 HEX HEAD C/S STAINLESS EA 0.79 1241 12 FT 43-BC CABLE EA 169.00
1091 HEX HEAD C/S STAINLESS EA 1.45 1242 13 FT 43-BC CABLE EA 171.00
1092 HEX HEAD C/S STAINLESS EA 2.20 1243 14 FT 43-BC CABLE EA 173.00
1093 HEX HEAD C/S STAINLESS EA 0.52 1244 15 FT 43-BC CABLE EA 175.00
1094 HEX HEAD C/S STAINLESS EA 0.75 1245 16 FT 43-BC CABLE EA 177.00
1095 HEX HEAD C/S STAINLESS EA 0.91 1246 17 FT 43-BC CABLE EA 179.00
1096 HEX HEAD C/S STAINLESS EA 1.08 1247 18 FT 43-BC CABLE EA 181.00
1097 HEX HEAD C/S STAINLESS EA 1.27 1248L 12 X 13 LHC 1" - 3 BLADE PROP EA 375.00
1098 HEX HEAD C/S STAINLESS EA 1.46 1248R 12 X 13 RHC 1" - 3 BLADE PROP EA 375.00
1099 STANDARD NUT STAINLESS EA 0.13 1249L 12 X 14 LHC 1" - 3 BLADE PROP EA 375.00
1100 STANDARD NUT STAINLESS EA 0.19 1249R 12 X 14 RHC 1" - 3 BLADE PROP EA 375.00
1101 STANDARD NUT STAINLESS EA 1.95 1250L 12 X 15 LHC 1" - 3 BLADE PROP EA 375.00
1102 LOCK NUT STAINLESS EA 0.90 1250R 12 X 15 RHC 1" - 3 BLADE PROP EA 375.00
1103 LOCK NUT STAINLESS EA 0.99 1251L 12 X 16 LHC 1" - 3 BLADE PROP EA 375.00
1104 LOCK NUT STAINLESS EA 1.87 1251R 12 X 16 RHC 1" - 3 BLADE PROP EA 375.00
1105 LOCK WASHER STAINLESS EA 0.04 1252L 13 X 13 RHC 1" - 3 BLADE PROP EA 390.00
1106 LOCK WASHER STAINLESS EA 0.08 1252R 13 X 13 RHC 1" - 3 BLADE PROP EA 390.00
1107 LOCK WASHER STAINLESS EA 0.11 1253L 13 X 14 LHC 1" - 3 BLADE PROP EA 390.00
1108 FLAT WASHER STAINLESS EA 0.06 1254L 13 X 15 LHC 1" - 3 BLADE PROP EA 390.00
1109 FLAT WASHER STAINLESS EA 0.11 1255L 13 X 16 LHC 1" - 3 BLADE PROP EA 390.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE 7 PLEASE SPECIFY ITEM NUMBER WHEN ORDERING



GLENWOOD MARINE
PRICE LIST  - EFFECTIVE NOVEMBER 18, 2010

Item Description U/M List Item Description U/MList

1256L 14 X 13 LHC 1" - 3 BLADE PROP EA 448.00 1620 BBC I/O MANIFOLDS HARD ANODIZED PR 860.00
1257L 14 X 14 LHC 1" - 3 BLADE PROP EA 448.00 1621 BBC I/O MANIFOLDS POLISHED PR 895.00
1257R 14 X 14 RHC 1" - 3 BLADE PROP EA 448.00 1630 I/O RISERS - HARD ANODIZED PR 510.00
1258L 14 X 15 LHC 1" - 3 BLADE PROP EA 448.00 1631 I/O RISERS - POLISHED PR 530.00
1258R 14 X 15 RHC 1" - 3 BLADE PROP EA 448.00 1635 I/O RISER GASKET EA 3.50
1259L 14 X 16 LHC 1" - 3 BLADE PROP EA 448.00 1638 #72 HOSE CLAMP EA 3.20
1259R 14 X 16 RHC 1" - 3 BLADE PROP EA 448.00 1640 TOP MOUNT STARTER BELL HSNG EA 295.00
1261L 14 x 18 LHC 1" - 3 BLADE PROP EA 448.00 1641 TOP MOUNT STARTER BELL HSNG POL EA 330.00
1261R 14 X 18 RHC 1" - 3 BLADE PROP EA 448.00 1660 OLDS (350-425-455) BYPASS ADAPTERR EA 25.95
1263 CHEVY WATER COVER PLATE EA 12.95 1663 DBL SEAL STUFF BOX W/D BR 1-1/8" EA 66.95
1263L 13 X 13 LHC 1-1/8" - 3 BLADE PROP EA 390.00 1664 DBL SEAL STUFF BOX W/D CR 1-1/8" EA 79.95
1264L 13 X 14 LHC 1-1/8" - 3 BLADE PROP EA 390.00 1665 455 OLDS C/D WATER PUMP PLATE EA 85.00
1265L 13 X 15 LHC 1-1/8" - 3 BLADE PROP EA 390.00 1675 460 FORD C/D WATER PUMP PLATE EA 85.00
1266L 13 X 16 LHC 1-1/8" - 3 BLADE PROP EA 390.00 1680 11 TOOTH STEERING SPROCKET EA 19.50
1267 WEDGE CRUISER RUDDER 1-1/8" EA 265.00 1692 TURBO 400 V-DRIVE ADAPTER EA 40.00
1267L 13 X 13 LHC 1" - 4 BLADE PROP EA 495.00 1693 C-500 V-DRIVE ADAPTER EA 40.00
1268 STEEL SPEED RUDDER 1" EA 775.00 1710 48" x 1-1/8" STAINLESS PROP SHAFT EA 203.00
1268L 13 X 14 LHC 1" - 4 BLADE PROP EA 495.00 1711 54" x 1-1/8" STAINLESS PROP SHAFT EA 224.00
1269 STEEL SPEED RUDDER 1-1/8" EA 790.00 1712 60" x 1-1/8" STAINLESS PROP SHAFT EA 245.00
1270 FRONT STEERING PULLEY EA 89.00 1713 66" x 1-1/8" STAINLESS PROP SHAFT EA 265.00
1270R 13 X 16 RHC 1" 4 BLADE PROP EA 495.00 1714 72" x 1-1/8" STAINLESS PROP SHAFT EA 286.00
1271 REAR STEERING PULLEY EA 98.50 1715 78" x 1-1/8" STAINLESS PROP SHAFT EA 306.00
1271L 13 X 13 LHC 1-1/8" - 4 BLADE PROP EA 495.00 1716 84" x 1-1/8" STAINLESS PROP SHAFT EA 327.00
1271R 13 X 13 RHC 1-1/8" - 4 BLADE PROP EA 495.00 1717 90" x 1-1/8" STAINLESS PROP SHAFT EA 348.00
1272L 13 X 14 LHC 1-1/8" - 4 BLADE PROP EA 495.00 1720 K-500 MONEL PROP SHAFT 1-1/8" IN 16.10
1274L 13 X 16 LHC 1-1/8" - 4 BLADE PROP EA 495.00 1721 K-MONEL MACHINE CHARGE-1-1/8" EA 40.00
1276L 14 X 16 LHC 1-1/8" - 4 BLADE PROP EA 545.00 1750 01234 PIPE TO HOSE FITTING EA 9.75
1278L 14 X 18 LHC 1-1/8" - 4 BLADE PROP EA 545.00 1751 03410 PIPE TO HOSE FITTING EA 13.50
1278R 14 X 18 RHC 1-1/8" - 4 BLADE PROP EA 545.00 1752 03458 PIPE TO HOSE FITTING EA 12.50
1283 DELUXE FLOOR MOUNT THROTTLE EA 91.50 1760 91234 PIPE TO HOSE FITTING EA 19.40
1286 COWL VENT - CHROME EA 93.50 1761 93838 PIPE TO HOSE FITTING EA 10.50
1287 TOURNAMENT RUDDER 1-1/8" EA 295.00 1762 93410 PIPE TO HOSE FITTING EA 24.50
1287L TOURNAMENT RUDDER LONG SHAFT EA 299.00 1770 NO. 10 STAINLESS THRU HULL EA 26.00
1289 RUDDER STUFFING BOX 1-1/8" EA 95.50 1780 GARBOARD DRAIN PLUG - 1" EA 33.50
1290 STEEL SPADE RUDDER 1" EA 775.00 1810 2-1/2" EXHAUST PORT ALUM-BLACK EA 83.50
1291 STEEL SPADE RUDDER 1-1/8" EA 790.00 1820 3" EXHAUST PORT ALUM-BLACK EA 89.50
1292 CHEVY FRONT MOUNT SBC EA 184.50 1830 3-1/2" EXHAUST PORT ALUM-BLACK EA 97.50
1293 2-1/2" S/S EXHAUST PORT EA 165.00 1840 GRP 24 BATTERY BOX COMPLETE EA 74.50
1294 3" S/S EXHAUST PORT EA 171.00 1845 GRP 24 BATTERY BOX COMPLETE EA 78.50
1296 FLIP TOP GAS FILL - S/S EA 108.00 1850 GRP 24 BATTERY BOX TOP EA 35.50
1298 V-6 CHEVY MANIFOLDS PR 600.00 1860 GRP 24 BATTERY BOX BOTTOM EA 37.50
1349R 12 X 14 SS RCH 1" - 3 BLADE PROP EA 425.00 1870 BATTERY BOX BOLTS PR 4.75
1353L 13 X 14 SS LHC 1" - 3 BLADE PROP EA 495.00 1880 GRP 27 BATTERY BOX COMPLETE EA 81.50
1367L 13 X 13 SS LHC 1" -  4 BLADE PROP EA 460.00 1885 GRP 27 BATTERY BOX COMPLETE EA 85.50
1372L 13 X 14 SS LHC 1-1/8"-4 BLADE PROP EA 495.00 1890 GRP 27 BATTERY BOX TOP EA 38.50
1400 SALISBURY EXHAUST GARD 3" PR 47.50 1900 GRP 27 BATTERY BOX BOTTOM EA 40.00
1500 8-2 USCG S/S FLAME ARRESTER EA 218.00 1910 BATTERY BOX BOLTS S/S PR 9.00
1510 8-3 USCG S/S FLAME ARRESTER EA 228.00 1920 M606 PUSH-PULL SWITCH EA 29.90
1520 8-5 USCG S/S FLAME ARRESTER EA 250.00 1930 M608 PUSH BUTTON EA 28.50
1530 10-2 USCG S/S FLAME ARRESTER EA 290.00 2000 CUSTOM STEERING WHEEL - 13" EA 135.00
1540 10-3 USCG S/S FLAME ARRESTER EA 320.00 2010 CUSTOM STEERING WHEEL - 14" EA 135.00
1550 10-5 USCG S/S FLAME ARRESTER EA 340.00 2410 BLACK 3-3/8" ANGLED BEZEL EA 32.25
1560 10-2 USCG S/S FLAME ARRESTER EA 310.00 2420 BLUE 3-3/8" ANGLED BEZEL EA 32.25
1570 10-3 USCG S/S FLAME ARRESTER EA 330.00 2430 GOLD 3-3/8" ANGLED BEZEL EA 32.25
1580 10-5 USCG S/S FLAME ARRESTER EA 350.00 2440 RED 3-3/8" ANGLED BEZEL EA 32.25
1600 STRAIGHT WATER COOLED OUTLETS PR 195.00 2510 BLACK 2-1/16" ANGLED BEZEL EA 21.75
1601 3-1/2" EXHAUST PORT ALUMINUM EA 99.50 2520 BLUE 2-1/16" ANGLED BEZEL EA 21.75
1602 3-1/2” EXHAUST PORT CHROME EA 178.50 2530 GOLD 2-1/16" ANGLED BEZEL EA 21.75
1610 SBC I/O MANIFOLDS HARD ANODIZED PR 890.00 2540 RED 2-1/16" ANGLED BEZEL EA 21.75
1611 SBC I/O MANIFOLDS POLISHED PR 925.00 2610 BLACK 3-3/8" FLAT BEZEL EA 19.00

PRICES SUBJECT TO CHANGE WITHOUT NOTICE 8 PLEASE SPECIFY ITEM NUMBER WHEN ORDERING



GLENWOOD MARINE
PRICE LIST  - EFFECTIVE NOVEMBER 18, 2010

Item Description U/M List Item Description U/MList

2620 BLUE 3-3/8" FLAT BEZEL EA 19.00 111101 BLACK STRINGER WASHER EA 2.43
2630 GOLD 3-3/8" FLAT BEZEL EA 19.00 111102 BLUE STRINGER WASHER EA 2.43
2700 POLISHED 2-1/16" FLAT BEZEL EA 14.50 111103 GOLD STRINGER WASHER EA 2.43
2710 BLACK 2-1/16" FLAT BEZEL EA 14.50 111104 RED STRINGER WASHER EA 2.43
2720 BLUE 2-1/16" FLAT BEZEL EA 14.50 111201 BLACK STRINGER WASHER EA 2.43
2730 GOLD 2-1/16" FLAT BEZEL EA 14.50 111202 BLUE STRINGER WASHER EA 2.43
2740 RED 2-1/16" FLAT BEZEL EA 14.50 111203 GOLD STRINGER WASHER EA 2.43
3001 1/2" TURNBUCKLE EA 59.90 111204 RED STRINGER WASHER EA 2.43
3002 1/2" TURNBUCKLE EA 61.00 111301 BLACK STRINGER WASHER EA 2.43
3003 1/2" TURNBUCKLE EA 62.10 111302 BLUE STRINGER WASHER EA 2.43
3004 1/2" TURNBUCKLE EA 63.20 111303 GOLD STRINGER WASHER EA 2.43
3005 1/2" TURNBUCKLE EA 64.30 111304 RED STRINGER WASHER EA 2.43
3006 1/2" TURNBUCKLE EA 65.40
3007 1/2" TURNBUCKLE EA 66.50
3008 1/2" TURNBUCKLE EA 67.60
3009 1/2" TURNBUCKLE EA 68.70
3010 1/2" TURNBUCKLE EA 69.80
3011 1/2" TURNBUCKLE EA 70.90
3012 1/2" TURNBUCKLE EA 72.00
3050 1" CONTROL SHAFT - STAINLESS STEEL EA 275.00
3060 7/16" X 1-1/4" S.S. CONTROL ARM EA 17.00
4001 1" S.S. STRUT COLLAR EA 21.00
4002 1-1/8" S.S. STRUT COLLAR EA 24.00
11609 DELUXE SPEED STRUT BRNZ   9 º EA 265.00
11610 DELUXE SPEED STRUT BRNZ 10 º EA 265.00
11612 DELUXE SPEED STRUT BRNZ 12 º EA 265.00
11614 DELUXE SPEED STRUT BRNZ 14 º EA 265.00
11616 DELUXE SPEED STRUT BRNZ 16 º EA 265.00
11809 DELUXE SPEED STRUT CHRM   9 º EA 336.00
11810 DELUXE SPEED STRUT CHRM 10 º EA 336.00
11812 DELUXE SPEED STRUT CHRM 12 º EA 336.00
11814 DELUXE SPEED STRUT CHRM 14 º EA 336.00
11816 DELUXE SPEED STRUT CHRM 16 º EA 336.00
12210 CUSTOM SPEED STRUT BRNZ 10 º EA 290.00
12212 CUSTOM SPEED STRUT BRNZ 12 º EA 290.00
12214 CUSTOM SPEED STRUT BRNZ 14 º EA 290.00
12216 CUSTOM SPEED STRUT BRNZ 16 º EA 290.00
12410 CUSTOM SPEED STRUT CHRM 10 º EA 350.00
12412 CUSTOM SPEED STRUT CHRM 12 º EA 350.00
12414 CUSTOM SPEED STRUT CHRM 14 º EA 350.00
12416 CUSTOM SPEED STRUT CHRM 16 º EA 350.00
12512 SPECIAL CUST. SPEED STRUT BRNZ 12 º EA 275.00
13012 #2 STREAMLINE STRUT BRNZ 12 º EA 190.00
13014 #2 STREAMLINE STRUT BRNZ 14 º EA 190.00
13212 #1 STREAMLINE STRUT BRNZ 12 º EA 195.00
13214 #1 STREAMLINE STRUT BRNZ 14 º EA 195.00
14009 COMPETITION STRUT BRNZ  9 º EA 330.00
14012 COMPETITION STRUT BRNZ 12 º EA 330.00
14016 COMPETITION STRUT BRNZ 16 º EA 330.00
14309 COMPETITION STRUT CHRM 9 º EA 395.00
14312 COMPETITION STRUT CHRM 12 º EA 395.00
14316 COMPETITION STRUT CHRM 16 º EA 395.00
86416 1" 1310 V-DR. FLANGE TAKEOFF EA 89.50
86418 1-1/8" 1310 V-DR. FLANGE TAKEOFF EA 89.50
86420 1-1/4" 1310 V-DR. FLANGE TAKEOFF EA 89.50
86422 1-3/8" 1310 V-DR. FLANGE TAKEOFF EA 89.50
86516 1" 1350 V-DR. FLANGE TAKEOFF EA 102.50
86518 1-1/8" 1350 V-DR. FLANGE TAKEOFF EA 102.50
86520 1-1/4" 1350 V-DR. FLANGE TAKEOFF EA 102.50
86522 1-3/8" 1350 V-DR. FLANGE TAKEOFF EA 102.50

PRICES SUBJECT TO CHANGE WITHOUT NOTICE 9 PLEASE SPECIFY ITEM NUMBER WHEN ORDERING


